Run #1
Alice in role A

A -> Alice
B -> Alice
T -> Bob

Const Ra#1, Rpa#1, Text2#1, Texto#1, Text7#1 Initial intruder know ledge
Var Text9 -> Ticketintruder3 The intruder generates: TicketIntruderl, Ticketintruder2, TicketIntruder3, Ticketintruder4

Var Text8 -> Text6#1

Var Text5 -> TicketIntruder2
Var Text4 -> Text4#?2

Var Text3 -> Text3#2

Var Textl -> TicketIntruderl
Var Rb -> Alice

recv_1 from Alice
(Alice,Alice, TicketIntruderl)

l

send 2 to Bob
(Rpa#1,Alice,Alice, Text2#1)

Run #2
BobinroleT

A -> Alice
B -> Alice
T -> Bob

Const Text3#2, Text4+#2, Text5#2

Var Text2 -> TicketIntruder4
Var Rb -> Alice
Var Rpa -> Rpa#1l

l

recv_2 from Alice
(Rpa#1,Alice,Alice, Ticketintruder4)

l

select Rpa#1

send_3 to Alice
(Text5#2,Alice,pk(Alice),Alice,pk(Alice),{ Rpa#1,Alice,pk(Alice), Text4#2 }sk(Bob),{ Alice,Alice,pk(Alice), Text3#2 }sk(Bob))

< select { Alice,Alice,pk(Alice), Text3#2 }sk(Bob) >

\

recv_3 from Bob
(TicketIintruder2,Alice,pk(Alice),Alice,pk(Alice),{ Rpa#1,Alice,pk(Alice), Text4#2 }sk(Bob),{ Alice,Alice,pk(Alice), Text3#2 }sk(Bob))

l

send 4 to Alice
(Alice, Text7#1,Ra#1,Alice,pk(Alice),{ Alice,Alice,pk(Alice), Text3#2 }sk(Bob),{ Alice,Ra#1,Alice,Alice, Text6#1 }sk(Alice))

< select { Alice,Ra#1,Alice,Alice,Text6#1 Jsk(Alice)

J /

recv_5 from Alice
(Ra#1,Alice, Ticketintruder3,{ Alice,Ra#1,Alice,Alice, Text6#1 }sk(Alice))

claim_Al

Commit : (Alice,Ra#1,Alice, Text6#1)
[Id 1] Protocol isoiec-9798-3-7-1, role A, claim type Commit



